[ Efficiency vs vertpos |
0.0]

0.009F- -+ -swinseeeseens e s
0.008f+++++eeerieeneeeene R e

0.007
0.006
0.005
0.004
0.003
0.002
0.001

Ja)

.................................................

.................................................

................................................

VS

0.950

1072 10

£Z<Zg

DQM
DQM _det
Efficiend —— Bgm TT_MS_detQ-dpdg

0.0

L S R S
000
O R A TR
0006
0005E
000
TC0| SUSRES SRRSO MO SRS oo
0002

0.001F--+++-eemenenis
Vel

H
T

0.95!

[ Efficiency vs. sim PV z |
0.0

o L
T S e
Y] SRS S R O o o
sl ST W S
Pl T N O
0008
POINES

0.002

0.001E -++-ieeresbpeesboenendnnndindinids
AE ] [ I I N I I
LWl 3 T T T
R - S U SO o
B8~ =6 -4 -2 0 2




	Contents
	Page 1


